Q1w

W

v

W

G. >

L

W

%

>

PACIFIC Rolling Door Co.

15900 Worthley Drive  San Lorenzo, California 94580
(310)278-3211 (800) PRD-7269 FAX (510)278-3449

INSTALLATION INSTRUCTIONS
FIRE DOOR w/ CENTRIFUGAL GOVERNOR

EEE . L CON STRUCTION #%%#
*+*+ DPACKAGE BEFORE ATTEMPTING INSTALLATION . *###

If vou are installing more than one door, yvou will find that all major parts and pieces for
any one door are marked with corresponding numbers or leters; theretore ;a complete door
should be composed of parts and pieces bearing the same nmumbers or legters. DONGT
interchange parts {from one door to another.

Study all the drawings and familiarize yourself with the various parts and names tavolved.
Check the packing and hardware list with materials receivéd. Report any shortages at once.
Wall bolts are provided based upon wall construction indicatedat time.of order - if bolts are
not correct foractual field conditions, CONSULT FACTORY.

When the instructions refer vouto the right or lettside of the door it will be facing the
door asit is mounted on the wall.

Thisis a listed fire door and must be mstailed in accordance with these instructions. Any
deviation may have a severe impact on thefire protection capability of the fire door.

The fire door must beinstalled inaccordance withiall national . regional and local codesand
ordinances. The door must be installed'in accordance'with NFPA 80, The authority
having jurisdiction must be consulted when deviating from accepted standards and will
havethe final say on all matters relating tothe installation and acceptance of the door.
Duringinstallation, rememberthat all guides: brackets, barrel and components mustbe
instatfed so that they are plumb andlevel,
Your fire door may be provided swith a backhood/fascia. If so. determine now if it hasto
beinstalled prior tothe@astaliation of the door itself.,

CAUTION -the barrel weight is notsymmetrical about the centerline. The barrelis heavier
on the tension end;

Personal and equipment safetvrules should be adhered to at all times. Depending onthe
size of the door, youmay need assistance and/or equipment to safety install the door,

INSTALLATION

Installation of thefire doorwill bein two parts. Part I isthe basic layout and installation of the
door, Part 115 'the fusing of the fire door,

ARTI

NOTE! It your door1s mounted between the jambs, it 13 provided with extra angles, Installthe
extra anglesas shown in the plan view drawing, following the same procedure as noted for the
wall angles. Thenbalt the wall anglesto the extra angles as shown, and proceed with the balance

oftheinstallation.

1.

Locate the center of the opening at the top of the opening. Use a plumb bob to locate the
center of the opening onthe floor. Locate the heel to heel dimension as shown onthe plan
view drawing. This dimensioniscritical. Measure one half of the heel to heel dimension
and mark this on the wall on each side of the opening. Mark this at the top and bottom of

theopening.




[

why

Look at the plan view drawing to see which guide i3 for the left and which one isfor the
right. Take the guides apart and stand the wall angles against the wall and align the back of
the wall angle with the heel to heel marks that you put on the wall.

Thus fire door is designed to allow for upward expansio, so the guides set on the floor.
Check the fioorfor level. If the flooris not level, raise the lower wall angle as required to
compensate. The tops of the wall angles must be in level alignment with each other. Fire
door guides have slotted holes to allow for expansion during afire. All wall bojts mustbe.
placed in the top of the slots. Mark and drill the holes accordingly.

After vou have drilled the wall bolt holes, install the wall angles with the wall boltsand
galvanized washers provided. Be sure that the wall angles are plumb, andthe topof the
anglesare1n alignment with each other.

The gear and tension brackets are shown in the drawings, The gearbracketzoes onthe
same end of the barrel as the double shafts. The tension bracket goes onthe same end of
the barrel as the single coped shaft. NOTE - the gear end of the barrelis marked INSTALL
RIGHT HAND SIDE or INSTALL LEFT HAND SIDE.

If the tension clip is not factory welded to the tension brackeb, assemble it now with two (2)
3/8" x 1" carriage bolts, washers, and nuts as shown..Grease the roller bearing and insert it
into the hub of the gearbracket. Putthe 1 3/4" washers omthe shaft between the barrel and
the gear bracket asshown. Place the brackets on the barrel. The barrel should be snug
toward the gear bracket. Put 1 3/4" washersand thenain gear (with hub in) onthe gear
shaft as shown. Instailthe key and tighténthe set screw. Put 1" washers and the tripper
wheel (with hub out) on the gear shaft asshown, andtighten the set screw. Bolt the drop
arm to the front of the gear bracket with the 3/8" bolt. washers and nut - a brass washer
goes on each side of the hub.

CHAIN DOCRS - Install thehand cligin. The chainisto be an endless loop. Carefully
feed it through the chain guard and over the chain sprocket. Make sure the chainis not

twisted and secure the ends as sliown onthe instruction tag attached to the chain. The
chain may alsc be installed after the brackets and barrel are bolted to the wail angles.

CRANK DOORS ~Installthe crank operator.

MOTOR DOQORS ~If the gear bracket is provided with a motor mounting angle, you may
want to isistall the motor operator onthe angle now, If the motor operator is in a different
mounting position, iostall it as shown. (Alsorefertothe motor operator installation
instroctions. §

Lift the barrel and bracket assembly and bolt the brackets to the top outside face of the wall
angies with 1/2" diameter machine bolts, washers, and nuts as shown. Use hex head bolts
in the top holes and round head bolts in the bottom holes. CAUTION - use eithera 'C’

clamp or vice grips on the tension shaft to make sure the tension bracket doesn 'tfall off the

shait during hoisting.

After bolting the bracketsintoplace, check to make sure the barrel and washers are against
the gearbracket and thereis clearance between the tensionbracket and the barrel, Check
the barre] to make sure it rotates smoothly and doesnot bind. If it does not turn freely,
check the installation of the brackets and the wall anglesfor plumb and square.

Fire Door (centrif gov) Instructions - Page 2




10.

11,

13.

14,

15.

i6.

17.

If you haven't already installed the hand chain, do so now. I[nstall and adjust the roller
chain for a motor operated door. Double check all bolts. If your door is provided with
hood supports, you may want to lay out the support(s) now and predrill the mounting
holes. Use a chalk line across the top of the wall angles to determine the line of the hood.

The drop arm, when properly released, will cause the door to close at a givenrate of
decent. It must move freely and drop straight down when released. Raise the drop arm
and mark a point on the ceiling directly above the drop ball. Install an eye bolt at this point.
Temporarily wire {or clamp)the drop arm ina horizontal position with the drop plate raised
to engagethe gears.

Using two or more ropes, make slings of equal length to hang off of the barrel. The rope
slings will be used for installing the curtain, Therope must be strong encugh+o hold the
weight of the curtain. Lift the curtain and suspend it in the rope slingsbeneath the barrel as
shown. The curtain should be about 2 feet underneath thebarrel. The top'slat of the
curtainis punched to match the curtain fastening screwsinthebamel, These arethe
machine screws and washers that are in line on the barrel. Remove the screws and
washers.

The curtain must be centered between the brackets. Measuréeach side to make sure you
have the same distance betweenthe r:urtaiﬂ topsiatand thebracket oneach side.

Raise the top slat up between the barrel and the wall. UJse a hammer to depress the curtain
top slat around the puched slots and attach itto the barrel with the machine screws and
washers that you removed trom the barrel, Useonly those screws and wasbers that were
provided. If anothertype or length of screw isused, it nay impede the operation of the
internal torsion springs. Check the curtain again to make sure it 1s centered betweenthe
brackets.

With the curtain attached to thebarrél and s@pported by the rope slings, roll the curtain onto
the barrel. Rollthe curtaisi around the barrel until the footpiece hangs approximately 3"
below the opening. Securethe Curtainto prevent uncoiling.

With the footpiece hanging down and still resting in the rope slings, assemble the guides.
Attachthe insideand outside anglesto the inside face of the wall angles using the

3/8" X 1 1/2" bolts, galvanized washers, and nuts as shown. A galvanized washer is
required on@ach side of the guide assembly. Attachthe chainlockto one of the guide
assemblybolts atapproximately waist height. Secure the chain tothe chain lock or use
anothersneans to keepthe curtain from wnrolling. DO NOT allow the curtain to drop.
Attaclithe curtainstops to the guides using the 5/16" x 3/8" round head machine screws.

Put the tensiofwheel on the tension shaft. With the f ootp1ece approximately 3" below the
opefling take i tension, Lifti
Usmg a tension bar of appropnaxe size, turnthe tension wheel ina

(clockwise. counter—clﬂckmse} direction as shown, keeping count onthe number of turns.
Take ia complete turns plus holes of tension. Lockthe tension wheel
with the tension jock rivet. USE EXTREME CARE IN TAKING IN OR LE’I'I' ING OUT

TENSION. aif f
open position when takmg m or letting out tenszon

Raise the curtain to the bottom of the stops. Using a tension bar of appropriate size, turn
the tripper wheel in a (clockwise, counter-clockwise) direction as shown, keeping count on
the number of turns. Takein complete turns plus holes of tension.
(Cont'd on next page)

Fire Door (centrif gov) Instructions - Page 3




17.

i8.

19.

21.

(cont'd) Tensionwill be held by the tripper dog re-engaging the tripper wheel after each
lug passes by the tripper dog. Try operation of door and check balance. Adjustby taking
in or letting out tension on the tripper wheel. To let outtension, lock off the position of the
tripper wheel with atension bar, lift the bottom of the tripper dog, carefully release one or
two holes of tension, and set the tripper dog against the chain guard o re-engage the tripper
wheel lug. Again lock off the position of the tripper wheel with a tension bar, raise the
drop plate to re-engage the gears, re-secure the drop arm in a horizontal position, and
remove tensionbar. USE E EME CARE IN TAKING INOR LETTING QUT

TENSION. Always maintain control of the tripper wheel and make sure the doorisin the
T : King | - :

Remove the rope slings at this time. Carefylly open and close the door several times. The
barrel should rotate freely and the curtain shoutd move up and down theguide without
binding. If the curtainbinds, check the width of the groove.

Raise the door to the full open position. The door is now ready wiest foravtomatic
closing. Release the drop arm and note the speed at which the'door closes. The door must
close completely to the floor and travel at a rate between 6 iniches per secand and two feet
per second. If the door travels too fast, take in more tefsion on the tepsion wheel. Ifthe
door travels too slow, let out tension on the tension wheel - refer to Step 16 above. If you
have to adjust tension on the tension wheel, to maintain balauice, it may also be necessary to
conversely adjust tension on the tripper wheel - refer to Step 17 above. Temporarily re-
secure the drop arm to complete the installation.

If the dooris motor operated and the electrizity willnotbe'hooked up attime of installation.

adjust the limit switches so that the migro switches engage when the footpieceis

approximately one foot above the floor and below the stops. Double check the gearing
ignment, roller chainsand all boits.

If hood supports are provided, they are instalied INSIDE of hoods withoutflame batfles
and instalied over the QUTDSIDE of oods withflame baffles. Liftthe hood over the
bracket bands {and supports) and sechre-with #10 x 3/8" pan head sheet metal screws as
showa,

PARTII

Study the(Fusible Link Arrangement drawing. Itis important that you follow the
instryetions and understand the purpose of the fusible links. The cable and links mustbe
arranged 5o that the melting of any link will cause the doorto drop.

A fusibie link is required on the drop arm, at or near the ceiling on the door side and onthe
oppbsite of door side of the wall. Attach an "S" hook and fusible link to the drop ball as
shown. Locate, drill and install a thru-wall sleeve midway across the opening (unless not
required by code). (Suggested sleeve assembly: 1/2" EMT conduit, cut 1" longer than wall
thickness, with 1/2" set collar at each end). Onthe opposite of door side of the wall, install
an eyebolt in the ceiling as shown. Attach an "S" hook and afusible link to the eye bolt.
Make sure the fusible link is far enough from the sleeve to allow for full release of the drop

arm.

On the other end of the fusible link that is on the opposite of door side of the wall, placean
"S" hook and install the wire cable. Run the cable through the sleevein the wall and
through the eyeboit above the door, allowing the cable to extend approximately six inches
through the eye bolt. (Cont'd on next page)

Fire Door (centrif gov) Instructions - Page 4




24, (cont'd)  Cutthe cable and install an "'S" hook and fusible link on the end of the cable.
Install an " 5" hook on the opposite end of the fusible link at the ceiling and attach the
other end of the cable with an "S" hook to the fusible link on the drop ball.

25.  The cable must be tight enough to hold the drop arm, but without opening the "S" hooks.
Remove whatever means was used (o temporarily secure the drop arm.

26.  Visually check the fusible link arrangement and make sure that when any one fusible link
melts, the drop arm will release. Drop test the door to insure proper avtomatic clpsing.

27.  Inspectthe door and make sure that all the fasteners aretight. Make sure that the dooris
operating correctly. Complete the drop test form provided and attach watriing labels as
indicated by the supplemental instructions. Installation of thefire doori§complete.

NOTE: I your fire dooristo be installed with a release device in conjunction witha central alarm
system or local smoke detector, locate therelease device ataconvenientlocatiofonthe wall or
ceiling above the drop ball. Only attach fusible links, "S" hooks, and cable to the drop ball and the
release latch, perthe proceduresnoted above. Detectors must normally be located on both sides of
the wall, per the requirements of NFPA-72, as referenced in NFPA-80.(lnspect and drop test the
door to insure proper automatic closing as noted above.

Fire Door{¢entrif gov) Instructions - Page 5




StuETE 04

CURLA LN
<Cofs

m

ELEVATION

~
s 08

IQ

SECTION

RegL To HEEL

WALL ANALES

=

”}___

INSIDE Ar&aues
oUTS 196 Am\ws
\

rFr]—'

| Héel To HeEL

WALL ANALES

e —
// \

F il

-

¢

EXTRA ANaLeS —

A

/
/

WALL ANGLES —— T
INGIVE ANALES
oNTENDE AN&LE§§

HEEL To HEEL _

i

1) WALL ANGLES / EXTRA ARGLEL ATTACH To WALL

W/ WL BOLTS PROVIDED

) GALANIZED WACHERS MUST B2 ULED AT AL

WALL Bours 4 ASSEMBLY BoLTS.
PLAN VIEWS




WALL BOLT SCHEDULE

Masonry Opening Wall Boll wail Bolt Drilt | Minimum
Jamb Width Type Size -Size Hole Depth
Concrete To 14-0" Wedge Anchor | 3/8" x 3 3/4" 3/8" 3"
Over 14-0" | Wedge Anchor | 1/2° x5 1/2° 1/2" 4"
Filled CMU Block Toe 14-0" Sieeve Anchor 1/2" % 4" 1/2" 3 3/q"
or Brick Over 140" | Sleeve Anchor | 5/8" x 4 1/4" 9/8" 4
Drywall Opening wall Boll wall Bolt Drill Tap
Jamb Width Type Slze Size Size
16 ga. Metal Stud * Ta 140" | Self-Tap Screw 38" % 2" 5/16" | ——
Over 14-0" N/A N/A NA L -
/16" Stesl Tube To 14'-0" 1 3elf-Tap Screw 3/8"x 2 B o
Over 14-0" | Machine Screw 1/2" x 2" 1 272/64" 1 1/2°-13 NE
NOTE: For 3/68" self~-tap screw in steel tube over 3/16" thick, use size "7 " dnifl

Wood Stud »

To 140"

Lag Screw

/8" x 4"

1/

Ower 14-0"

Lag Screw

1/2" % 47

11/32"

I Thru—Bolts and Crush Plates are Provided

(REQUIRED on 3 Hour Drywall Construction w/ Metal Stud or wWoad Stud Jamb)
Jamb Opening wall Bolt Wall Bolt Drill Hole
Type Width Type Size Size Depth
As Listed Above To 14-0" Threaded Rod 3/8" x Reqd] 7/96" Thru Wall
Over 14-0" Threaded Rod 72" » Regd” 9/18" Thru Wall
MASORNRY JAME DgTAILS ELEVATION
4
4

WEVAE ANCHOR ~/

GALV.
WASHER

4LeeVe ANZUOT

&AL,
WASHER

|~ WALL BOLT

N HoT DIF
SALVAHLLED
WASHER

A e
LWAL!, ARSLE

LOCATE WALL 20LT
AT Tov OF sLo7T

SELF- TA

SALV.
WASHE R 7~
P
CLREW

PEYWALL JAMB DETALILS

|—U

o ]

GALN.

WASHER

LAS SCREW—/

ALTeEnNATe DeTAIL
CRUSH PLATE
Xﬂ“/— HEX NUT

<~

|
|
1
{
|
I
t
i

S GALY.
\WA§HER
HEX NUT

TRREZADED
RoD




. I p T Y
V24" rower %l— Key |“ BEASS
- | o -| WAsHer.
. [ ‘gearing ¥ <ot SLREW O ot oo
| 74" Beass washer ,
Bas> Wia i 134" ggass | _ v
/-BM.&EL WASRER = =
| GeAR. |
‘ ] E—[H{l E{:’ BRACKET " I
T B - i L O
Y = | i \
V74" steeL = V34" sre = p
- b smel B TRfPee
FLAT WASHEER (2) — FLAT c = Whect
- gb WASHER
DROP A 1" sAgeL .
aoleeror—~__| boa MAIN aear
CHAIN GQUARD
e WIND
¥ GREASE BEARING BETFokE A$SQM3LY f TENSION
36" prat wasacr (2) TRIPPER
- TENSION CLIP ‘ WHééL—\
_ B x|V cARIAGE BT (2).] T TRIPPER
THRU PUNCHED 0 HOLés_ erw
—E— ]| |-~ PROP
— ARM
| =" N
\TQNS.}OM Z
WHEEL
BARREL DRo? /f
PLATE

\TéNSION BrACKET

TENSION BRACKET

Notg « T2psloN CLIP MAN B8 PACTORY
WELPED ON SoME DogRS

GEAR BREACKET
CENTRIFVGAL EoYeéRNOR
CRAIN oP¢RAT|oN

DRAWINGS REFER To R/K OPERATION - L/H 0PPosiTE

D LENTEF




HEXHEAD POUT (S~ |

Tmmn::

| I TOP HOLE ()
- -E— aefl—
HEX NUTS —f j
FLAT WASHERS
1 )
\— ROUND_HEAD BOLT(S)
® BOTTOM ROLE(S)

OUTS IDE FACE/_
OF WALL ANGLE

TENSION - |
LOCK RIVET ‘

= |
o ) pd BAR 5 !
| =
ULL | -
il HEX HERD BOLTS
c DOWN Y WALL
\ \ INSTRE ANGLE —~ ANGLE
A TENSION. WHEEL | _ , \—Exjy—;rs
| BUTSIDE ANGLE —7 »
TENSION WHEEL LEFT SIOESHOWIC- | OUTLINE OF BRACKET === | ‘- GALVANIZED
ol FLAT WASHERS (1)
TENSION WHEEL RIGHT SIPE 0PPOSITE
" T
| \
2 10 x 38" PAN HEAD S M- SCREWS @
t ROUND HOODS - MAIN. 3 EA. SI0E 4 EA. SUEPORT
SOUARE HOOD BQRUARE HOOPS - 5 EA. S\DE € €A SUPPORT

NoTes -4
{f THE Hoop 15 INTERMEDIATE Hoop supporT (s) (wien ?ﬂ—wmw)

PRaviveD WITH A
FLAME BAPFLE, THE
Hoop SuPPorT WiLL &
FIT oVER THe OUTS1PE

QF THE Hoop FD CeNTRIF

ATTACH 12 WALL W] ANCRoRS PRVIDED




Note:

TNPICAL CoNFlauRaTION
AC SHOWN - MOT\FleaTIoNS

MAY BE ZERUIRED BY

ACTUAL FIELD CoNPITIONS.

CONSVLT AvTHoRitY

HAVING JIRISDICTION

For- ACEPTABILITY, - \\
S

PeTAIL A’

Noté:

CRIMT NN eéCion
w/ LiNggmen
GIPECOTTING PLIERS
2 PLALES - Do NoT
CUT THEOUAH
CONNECTOR

ProP BALL
e £

PeTAIL A

o S=HoeK

L CUM? GNNEToR

o FEI8LE UNK

S~ YooK
OoT1ER PIN

1

(TyricAL fog ALL

FUSIBLE LINK CONNZCTIONS)

g . htemr o
o 4cdnoon'—\ HNM

k)

)

‘ o sex coutag.
RSN EA- $10€ 0F WALL

5 GHowN w/ opTiopAL
GEAR CovER

\
.l
FUs18LE
A" 4" LINK
' [
efe l ' ' €ys
goLy
} ’ l/_ il /\
A N 1 ¢
1" | 4 ‘-
MAKIMUM ‘ >\
o ﬁ‘“ifﬁf“ AS REQUIRED
FoR FULL
RELEASE OF
10 DROP BALL 4 PROP AR

Y
NoTg 3 FUSIBLE LINK MUST 8¢ LOCATSD AT THE
ORA? BALL AND WITHIN |27 oF THE CslLin&
ol BoTH 1065 OF THE WaLL (UNtess AN exTeest
OPENING) - NeYef- LOCATE FUSIBLE LINK IN
WATCHED AREAS.
DETAILL ‘B’
(F'JQ\@LE LINK PLACGMENT P2 NEPA- ,305

FD LENTEAT




FUSE
LINK

-

\

DROP BALL

GOVERNOR

s W

BRACKET HUB

A\

DROP ASSEMBLY

SUPPLEMENTAL INSTALLATION INSTRUCT bNS

Fikg Yook w/ CalTRIE: Govertor
MOTORCOVERAT ED

(BRACKET Fo¥ WALL MOUNT MoTol
AS SHoWNI- OTHERS SIMILAR) S

|®
D

/ WALL ANGLE

MAIN GEAR

1 3/4" BRASS
WASHER

%‘/ SET SCREW (‘nnw aos)

=

WASHER

TRIPPER DOG

ROLLER CHAIN SPROCKETS DIRECTION FOR. .

ASSEMBLY TAKING TENSION
————

TRIPPER WHEEL
(W08 1M Towkrvs BRACKET)






